[image: image1.jpg]23.f&:y'=lnx+1,

o1
% R
24. ﬁ:f(xlT i e')dx =Jx%'dx + Ie‘dx
=%x';'+e‘+c
L o
ZS.ﬁ_ax— =
9z _ 1
ay yz’

) Z_a_z ZQZ_=_ =
Frid « it Y . 1+1=0.

2. 8:(1)5 = [ (1-7)dy

o 2.
=(y 3‘)’) o

(2)V= [ mids

=j;«(1 - x)dx

2 1

=m(x - %‘)
27. f AEETT RN
rr—5r-6=0,
ﬁﬁfﬁﬂg | 1,"2 =0
Bk 7 R E AR

y=Cie™ + Cye™.

T 1
28. ﬁ:ﬂ(x’ + %) dxdy = J:da L,z Nt
D
4

1

S
S

(L
4

&
N





[image: image2.jpg]1
16. J % tan’x dx — R
4
17 REMz =2+, dz =
> . 9z
18. ¥ pA%K z = warcsin y,BllJ—; =

19, %Jﬁﬁan B R R

20. #ﬁﬁ'?‘iﬁy =2x BBy =__
= EERE21 ~28 @, 70 &3, ﬁxr?tﬂizﬁﬁﬁﬂ IERATENERES R,
21. (8 43)

44y SIn x + 2kx

g et g

22. (8 41)
BRBy = sin(2x - 1)K 5.
23. (8 41)
By =2 Inx,3K y"
24. (8 41)
ﬂ‘%:f(x;_ + e")dx.
25. (8 4%)
BEM = - R Ty S
26. (10 43)
WD RAMEx =1 -y« B,y ES —RRERMNE R X
(1) 3k D TR S;
(2) >k D %% « Hiess — & BT S e A iR V.
27. (10 43)
R y" - Sy' - 6y =0 K@
28. (10 43)

HH [ (7 +y*) dudy, 3o D RFHIZ 2 + 9° = 1,y =2« PFEH—RRERAE R K
BENF(—-)RESEER

—EEE
1A 2.4D 3.B 4G 5.B
6.C TN 8.D 05 10.B
ZJEsE
1) 12.0 13. 2e¥dx 14.2 15. arcsin x+C
16.0 17. 3x*dx+2ydy ~ 18.0 19.1 20. 2 +C
= BEE

ApglibeainE s TR 0 L o)
=0 X

BIBlL + 2k =2,k =~

22.f#:y' =cos(2x - 1) - (2x - 1)’
=2cos(2x - 1).





[image: image3.jpg]BEaE(—)RE

— RS .1 ~10 NEE, /NG 4 4,240 4, EENELHOEMNMERR, AE-HRHE
BEHEXRM,

W0 ff,x+2° +2 +2 Hx W

A ZEWMTIGE /N B.2 BrIcgs/h C.3 B35/ D. 4 By Jcg5/h

p—

2. lim (1 +£)" =

20 X

Al e B. —e C.e D.é
3. B ERH y = cos 2%, MU y' =

A. 2sin 2x B. - 2sin 2x C. sin 2x D. — sin 2x
4. R (%) 7ELa,b) %5, #E(a,b) TIR, f'(x) >0, f(a)f(b) < O,Mf(x) #(a,b) TR

AECN

A.3 B2 ot | D.0
5. % 2x 7 f(%) Hﬁ—-’*ﬁ%ﬁ W f(x) =

A.0 C.%° D.x> +C
6. % PREY f(x) = arctan x,ﬂlﬂij'(x)dx =

A. - arctanx + C B. - 12+C

1 +x
C.arctan x + C ! 5 +1C
1 +x

~J]

1 1 1
92 =fatczdx,12 =J-xsd3\7,l3 =fx4dx,ﬁlﬂ
0 0 0
ALl iy Bk L, > G L, B Shly B CE R (S 8

8. Wz =2 ME| =
ax (1,0)

A0 B.% C.1 D.2
9. FHx+2y-32+4=0 W — M EN

Ax (1 e Sul) B.(1,214) € 612 ~3) DR 5=3:4)
10. AR Y + (v')> + 9" =x FIBECH

AN B.2 C.3 D.4
— ETE 11 ~20 /B, NG 4 5,35 40 53,

tan 2x

j B lm

. g ) = {770 s = 04t e =

13. ﬁ@ﬁy-—e 1mljdy" = {2
14. Eﬁf(x) =« - 12x B‘J’I‘E/J\{Eﬁjﬂx =

15.j l—x2





